A Knight’s Tour
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What is a knight’s tour?

Given a grid of any size, is it possible for a knight to land on every square just once and end where he started.  

How does a knight move?

A knight moves by going two squares in one direction, then one square in a perpendicular direction.  For example, if a knight started in square 1, then he could move to either of the two starred squares.
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Goal:  Investigate why there is no knight’s tour for some grids, such as a 3x3, 

3x5, or 4x4.

______________________________________________

Here are some extensions of the problem, as times allows:

Investigate why there is no knight's tour on a 5 by 5.  Is there a knight's tour on a 6x6?  On a grid of any size?
